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Sixth Semester B.E. Degree Examina,$o$July/August 2021

Gellular Mobile GoJfr.- rfihication
Time: 3 hrs. :'""'1,,.,,r,,,,* .-,Yu*. 

Marks: 80

Note: Answer oo!..,,NW full questions. 
,,,:;"1,1

I a. Explain frequency reuse concept with}i er illustrative figure and necessary expressions.
lllrfrh, (08 Marks)

b. Explain how subdividing u .orr er ceil into smaller cp$t *an expand the capacity of
cellular systems. 

=:;.,r"" ," (08 Marks)

2 a. Explain &ee space large scaE-a propagation model used*to'predict received signal strength

when the transmitter and-+peeiVer have a clear, unobStarcted line-of-sight path between them
with necessary expreqsffir f irr;,, (10 Marks)

b. Find the median pattr,JbsB using Okumura's modelftir d = 50km, h1s = 100m, l\e : 10m in a
suburban enviro-ffibnl. If the base station trApsmitter radiates an EIRP of 1 KW at a carcier

frequency of ffi'MHz, find the power at the receiver. (Assume a units gain receiving
antenna. A"6;($00 MHz (50 km)) = 43d&s-dGiREa = 9dB). (06 Marks)

3 a. Explarq.#6pp{br shift. Consider afran$tnitter which radiates a sinusoidal carrier frequency

of lgSiSWz. For a vehicle mov4r$60mph, compute tfuqg,eceived carrier frequency if the

mobite=is moving i) directly tffi:ahds the transmitter ;iitdirectly away from the transmitter
r to the direffibf arrival of the transmitted signal.ii| in a direction which is perpendicula- -- ---- -;*,-r-\w$1r -

(08 Marks)

b. Explain the working of spread spectrum sliding correlator channel soqnding system with the

helpofneatdiagrams.Aso,listitsadvantag?"sanddisadvantages.
-:a. Explain Clarke's podbl for flat fading w,,iffi[lre{bvant equationow+*,, (08 Marks)

b. What is small sealbufaaing? Explain the different types of dmall scale fading, (08 Marks)
,:::

a. With a neat diagram, explain GSIVI system architecture. (06 Marks)

b. What are..thq,logical and physical channels associatq,$ffih GSM? Explain them in detail.
/1 O Mcrks):, " (10 Marks)

6 a. Explainthe location registers dnd security related rbgisters associated with GSM. Mention

b .Exp{ain differpnt krndsld,.pursts of GSM. (10 Marks)

7 a, Explain handover with respect to :

'- 
. "' i) Intracell a$,:intbrcell

ii) Internal,,and dxternal. r i (08 Marks)

b. Explain N{+fr{p;*er*ork architecturi with diagram. (08 Marks)

8 a. Explain GPR system architeefore and interfaces with diagram. (10 Marks)

b. Write a short note on ED.GEconcept. (06 Marks)

9 a. Explain CDMA-2000 wiiEless system with the help of a neat diagram. (08 Marks)

b. Explain the different "fypes of CDMA handoffwith neat diagrams. (08 Marks)

l0 a. Explain CD ile initialization and call establishment procedure with various states,
i,;;r::a ' (08 Marks)

b. Explain the genbration of the CDMA forwprd traffic/power control channel for 9.6 kbps.- 
.*;-., 

- (08 Marks)


